11 12
1 103
1994 2001
8 12
() )
8 96[[19920193 ;49 Tc2e 28| >0
BT T SRS R
10 99200120192 ;49 %2323 >0
11 00200220195B 1199 lg:ig 40 79 C’“gjg
12 0120032019;3 11: lgzig 40 79 C”;fjﬁ
s| 20 20 |774 16 [s@d o - 16 |5 3%
9| 20 11 |55 1 |o1%| 11 |e@w| 12 |4@%
0| 74 20 394 26 [sgd 1 |10md 27 |9 @%
1| a8 26 |58 11 [amd 19 |7aw| 30 |1 om
12| 60 14 234 7 [s@4d o9 |8Bw 16 |53%

15

1,103

43
530 67 5+
198 69.5+ 2.5 332 66 4+
197 1
1959 1 200 12
1997 2 00
2000
3MO 600
| —
—o—
2®»0
-2MmO0
190
1m0
500
0 0
1959 1969 1979 1989 1999 2 000
1
14000 2500
=
12000 T _
4 2000
10000 | ]
= "o
8000 |- | o~
6000 - * : 4 1000
4000 |
1 500
2000

1959 1969 1979 1989 1 999 2 000

1

12

39
4.2



195 1 0470 200

2 5764 2.5
1 959 4 700 200 1 1, @ P e.01
25
5 25 1
19+ 34 34+ 48
P=0 242 P<0 00 @
10 15 9nify 90
94m ki 24 27 by d
200 2 9mgd 40
P=0.0 @7
P=0 .18
11 12
10
80
= 60
2 40
20
)
-0
2 1 2
o Q 19 23 26 34
-o— (M 27 43 41 34
43 66 9+ 4.1 15 28
22 21
487 6 76+ 3 9 183 304 o
P =2 87
- 40
e o T | (

65 m (9 4 3 8
6 76. 6 69. =] (T 16 -2 -7

60



20

15
58 6
10
N=-312 y=3,26x+41,0 8 R=0. 83
5 L
; [ ﬂ
300 J
y = 2883 41 088 -5 1 2
250 # = 69 2 1
NS 123 [m © 17,795 19, 460 27,642
200 ‘D (N 47,004 17,357 -37,857
0 100 20 30 40 500
8 5942+ 136 263 150 839+ 182 346
137 057
+ 164 400 163 561+ 155 977
378753
P=0. 28
P<O0 00 Q@
65 499 60, 00
8 10 67.6x 2.8
P=0. 021
P=0 247
40
~ 30 [
20
10 |
-0 2 1 2
‘+ Q 85, 942 103, 737 123,197 150, 839
‘ —O— (T 137,057 184, 061 201, 418 163, 561




22

P=0.

P<0 .10
11
23

60

60
30
-30
-60
4
P= 0652
P=0 .48
1,88
11 87 & 120 708
250, 0[00 -
200, 060 T s
150, 060
/.———.———.
100, 0/60
50, 000

150, 000
100, 0/66
50, 000
- ‘\‘ )
-50, 060
-100, 600
HL
-HL / HD
BM
140 + 14 136+ 12 136 + 13 0.619
82t 7 8Lt 6 80t 7 0.571
6.2+ 87 | 50.7: 8.2 | 59.4% 8.1 0.798
244+ 3.2 | 236+ 2.9 | 23.5% 27 0.572
265+ 89 | 227+ 6.9 | 226+ 6.9 0.224
30.9+ 59 |358+ 6.4 |359+ 556 0. 41
214+ 34 216+ 37 219+ 32 0.898
HDL 50+ 15 67+ 18 65+ 18 0.387
2.8+ 12 25+ 1.2 2.7: 1.4 0. 678
Mz 2 95+ 16 91+ 10 0.700
1
B M
B M HD




BM HD

. -0 06| - 0095 -0 91 - 031 B-0.422 -0.38 -0. 466 0.0 -0. 09| 0042 -0. 187 0.1

p;=: =-- - 1p 7000 p=. 28| p =5 8|1 p=._ @4 p =06 Bp= 010 p=08 o= 004 p =954 p=. 87| p=809 p=. 425 p=38

0. 874 NERE 5 E: b -0. 31 0 08 p -0. 228 0.0

o= 000 3 p=. 47| p= 63 p=. 181 p=60

-0 06| B -0. @7 -0107y 0. 3 -005

4 p=. 84 p= 53 p=. 862 p=176

b -0. &7 -013 9 -0 . 3 -002

Vv p=. 24 p=41 9 p=. 86 3 p=189

f 0. 0B1 -028 0.3p1 -028

b p=._80] p=09 1 p=. 0¥ 5 p=09

f 0.2B3 -0139 0.224 -023

B = T1] p= 41 =. 189 p=16

0. 14043 048 -025

= p =5 7|B= 002 p =013 . =. 85|p=0 8@ o= 03 = 13

BM -0. 66| - 00 2|4 0. 23 0. o 714 0.1p7 -0085p 0.194 -005

p=. @1 p=891 p= 9 p =56 bp= 000 Pz~ p=62 L p=. 258 p=176

0. 28| 0.0 7|9 0. 36 0.3 1|1 475 019 -026 038 -0 22

p=. 45| p =6 4|8 p=. 28 p =06 Bo= 003 p =24 p=12 fp=. G2 p= 18

0 01 0. 06 0. 08| 0.2 1|5 -0. 84 - 004 #-0.405 - 029 0. 383 -0. 35 015

p=_. 59 p =729 p= B2 p=20|7 p=. 86 p =79 Bo= 014 p =07 p=02 o= 24 p= 35

-0 .09 - 01311 -0. @7 - 0187 0. 81 0.2 3|3 0. 49 012 001

p=.2% p =447 p= 84 p =274 p=._80 p =17 p=. 85| p =46 p= 93

HD 0. @2 0.08{2 -0. 07 - 0139 -0 86 - 013 p-0.473 - 008 -0 00

p=_.08 p =6 3|3  p=._ 36 p=419 p= 01 p =41 o= 004 p =62 p= 98

-0 .37 - 02 2|8 0 03] -0. 0|3 0. 81 0.2 2|@ 483 019 0 04

p=.28| p=18/1 p= 62 p=86[3 p= 85| p=18 bo=003 p =25 §o= IR p= 79

0 15 0. 0[9 -0. B1 - 0024 -0 81 - 023 -0. 33 - 005 -0. 27| 0158 0. 015 -000 0.0 1:6:::::1

p= .83 p =6 0|0 p=. B9 p =8 9|0 p=. 07 p =16 p=. 36 p =76E p=. &4 p=35f p= 93 p= 98 | = 7 PO

2,00 12 00 O

1.7

2 0000 17

=t



